o

Name the property that each equation
illustrates.

9+7=7+9 (ommutahve prp, of @)
(d-4)-3=d-(4-3) azgaciative, prop 06O
f+O=f .Qoqi...@ Prop of odd
-9=-1g mwir. erop. of -|

Im=m _qﬁ:;&o«ﬂo NG

2+0=2 dentity prop of addl.
np =pn commutative prop of mulk

Xy =yx commutatve prop of mult.

(-8+4)+5=-3+(4+5) assocratve prop
(3-8)0=3(8-0) Aisociaive prep of mwit

a+b=b+a Commwaie prop of- eacl
3(x+y)=3x+3y Divmiowhve.  Prop
6+ (-6) =0 rwevse. prop 0F 0ddih!)

~2(2+y)=-4+-2y Ashpuinve G

Simplify each expression. Justify each step.
—4b+9+b a\wen
“Ho+b+A  ommutative Proe oF@®

(-4+De+q ~Bstradve Erp-
-3ot9 oddution /e

7xk5(3+ x awen
Ix-15-5x Distnbuhve FPp.
Tx-Sx IS Commutative Prp O

A(-5)-I1S  Distbudie PP

X(2)-15  subtraction [T
2K -\S commutzhve  prop O

N




